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B—& k—k B A

|
| 1. th¥sKAg.
| kR OH l
; R e T P Hom oM R W
1 L |

T % & K B W #  pH>T
2 H | -® | % & Kk ® o  pH<T
I s % s | o®m A ok .| mEDE pH=7*
] 4 % G P 7k B om # pH=7
1 | T .
| 2. B,
} (1) B, B

KCN+HJ};£=HCN+KT+OHfN
Na,S-+2 H,0 == 2 Na*+2 OH" +H,S
NdAc¢+H,0 === Nat+ OH-"+HAc
Na,CO;+H,0 == 2 Na*t+OH~+HCO;~
Na,PO4+H,O == 3 Nat+ OH-+ HPO;'

(2) B, B#k:
' NH Cl+H,O-—-‘ NH, OH+H++C1“

2 CuSO +2H,0 = Cu,(OH)z SO,+2 H++ SO =
FeCly+ 3 H,0 = Fe(OH);+3H*+3Cl1"
SanCl,+H,0 == Sn(OH)Cl§ +H*+Cl~-

l (3) Bk, Fih. o
‘ Al,5;+H,0 #AI(OH)ﬂr +H,5%
NH, CH, COO+H,0 == NH, OH + CH, COOH
(NH,),S+H,0 == NH,0H +H,S
(4) 3EE:, I '
NaCl — Nat+Cl~
Na,SO ~—> 2 Nat+50,”
KNO; —> K*++NOy~-




3. EREELYITER SRRk,
(1) Al
A1CL+H,;0 == 3 HC1+ A1(OH); {
AICL+H,0(k5) = AI(OH)Cl, | +HCI
AI(OH)CL,+H,0 == Al(OH),Cl+HCI
(2) Bh: (EIRBRME AW B AsO™ Sh7E7E, 7R r B A M KA B TE & 7]
IR IR IR
AsO~+H,0 = HAsO,+H*
(3) .
BeCl;+ H,0 === Be(OH)Cl+HC]I
£ pH EHREN, FErHEfLEa eiliE,
Be(OH)Cl+H,0 === Be(OH), ¢ +HCI

(4) %,
BiCl;+ H,0 == Bi(OH)Cl,+ HCI
| Bi(OH)Cl,+ H,0 === Bi(0OH),Cl+HCI
Bi(OH),Cl—H,0 === BiOCl |
| B BiCl;+H,0 == BiOCl{ +2 HCI
Bi,(C,0.;+ 2 H,0=2 Bi(OH)C,0, y +H,C,0,
(5) ﬁi
Ce(50)),+4 H,0 = Ce(OH),J +2 H,S0,
(6) .
Cr,S;+6 H,O = 3 H,542 Cr(OH), |
| NaCrO,+2 H,0 === Cr(OH); | NaOH
; (7) .
Fe(CNS);+3 H,0 === 3 HCNS+ Fe(OH),; .
Fe(C,H;0,);+2 H,0 === Fe(OH)(C,H;0y), y +HC,H;0,
FC(OH)(CzH3Q2)2+ H, 0 = Fe(OH)zCzI'koz y +HC,;H,0,
(8) %#: -

l Ge+3 HCl=HGeCl;+H,
HGeCl,+2 H,0=Ge(OH), | +3 HCI
(9) XK. .
Hg,(NO;),+H,0=HNO;+ Hg,(OHINO; | (%)
3 HgSO,+2 H,0 === 2 H,S0,+ Hg;0,50, {
Hg(NO;),+H,0 === HNO,+Hg(OH)NO, J
2 Hg(NOy),+2 H,0 == 3 HNO,+ Hg,0(OH)NO, |
(10) HEMMA: \
GaCl;+3 H,0 == Ga(OH);{ +3 HCI
InCly+3 H;0 == In(OH);y +3 HCI



(11) ;.

(12) %%,

(13) .

(1) &8,

5t

[

IrFo+5 H,0=Ir(OH), | +6 HF + 0O

MgCl,+ H,;0=Mg(OH)C1{ +HCI
Mg;N,+6 H,0=3 Mg(OH), | +2 NH;
MgNH,PO,+H,0 === MgHPO,+ NH,0H

Mn(SO,),+3 H,0 =~ H,Mn0;{ +2 H,S0,
H,MnO;=H,0+MnO,
Mn,(50,);+ 3 H,0 = Mn,0,;{ +3 H,SO,

SbCl+H,0 === SbOC1 | +2HCI
SbOCI+2HCl=SbCly+H,0
ShOCI+ H,C,H,0,=H ((SbO)C,H,0,) + HCI

BAR
2 SbO(NOy) + H,0=5b,0,+2 HNO,
SbCls+2 H,0 === SbO,Cl{ +4 HCl
S$b0,Cl+2 H,0 === H,Sb0,+HCI

TR NI EE R R4 SbE,, SbF; RAEK il A s ULEE

(15) #:

(16) #%:

25mCl,+2H,0=2Sm(OH)Cl, | +H,

SaCl,+H,0 = Sa(OH)Cl1| +HCI

IR IO 825 >60% SnCl, RAERB AT ITH,

’
a7 4., #. HNEERZ KK
2 TaCls+ (X+5)H,0 = Ta,0; « xH,0 | +10HCI

(18) %k:

(19) 8.

SnCl,+2H,0 = Sn0,+4 HCI

Ti(SO,), +H,0 == (Ti0)SO, y + H,SO,
KR EL B L 2L

(Ti0)SO,+2H,0== H,TiO;y +2 H,SO,({m¥k#& L ¥)
Ti(C,H,0,),+4 H,0 == H,TiO, ¢ +4 HC,H,0,
H,TiO,=H,TiO; | +H,0 (4kBRITIE, 2% pH=1.5 I

Na,WO,+2 H,0 == H,WO,+2 NaOH



(20)

(21)

4.
¢))
(2)

3

4

(5)

8. .
VCL,+H,0 == VOCl1,+2 HC]
.
Zr(S0,),+H,0 = (Zr0)S0O, | +H,SO,
FERRALDOAE:
BCly+3 H,0=H,BO,+ 3 HCI (BCl; fEzs &b & )
BF;+3 H,0=H,;BO;+3 HF
BF;+HF=H(BF,) g8k y#&. (& HF 3)
PX,+3 H,0=H,PO,+3 HX
PCl,+H,0=POCI,+3 HCI
POCI,+3 H,0=H,PO,+ 3 HCI
SiF,+2 H,0=S5i0,+4 HF
SiF,+2 HF=H, (SiF,) &% h %
SiCl,+3 H,0=H,S5i0,+ 4 HCI




|

FE o €44 HO)

2H,0,=2H,0+0,*
e &S SRR AT, OQRE;, @E4EBEF (Fe, Cu, Ni, Cr, Mn);
O&EMK (n: Ag Pt, He)y @& BEAHMERLY; OFEED (IR ),
LRBEY, OSSN PHE X4,

2. FEl—FER%:
|— JO0+0—>HTERL
H—O H
H—O O
| — | + 2 H—HF&EHK
H—0O 0]
1) 2KI+2H,S0O,+H,0,=2 KHSO,+2 H,0+1,

(2  As,S¢+20 H,0,+16 NH,OH=2(NH,);As0,+5(NH,),SO,+ 28 H,0
As,S;+14 H,0,+ 12 NH,OH=2(NH,);AsO,+ 3(NH,),S0O,+20 H,0
(3) 5 FeCl, + H,0,+2 HCl=2 FeCly+2 H,0
@ _ 'MnCl, + 2 NH,OH + H,0,=MaO(OH), 4 +2 NH,C1+H,0
5) MM AKEERD AR ECEEASITIERE L BN IHAIA LT ELE
R LA TR CeO;» nH,0,
Ce(OH),+ H,0,=CeO; - nH,0 -
(6) 2 Co(NO,),+4 NaOH + H,0,=2 Co(OH),  + 4 NaNO;
N 2 NaCrO,+3 H,0,+2 NaOH=2 Na,CrO,+4 H,0
2 K,CrO,+2KOH+7H,0,Gt&)=2 K;CrO,+ 8 H,O(E & ~>14)
2K$k0ﬁ4LO=2KJkQ+2KOH+3%OI
K,CrOy & —Fid RiLt, Widsmm, %5t O,
(8) K,Cr,0,+H,S0,+H,0,=H,Cr,0,+K,SO,+H,0
X @
2 H,CrO,+ H,0,=H,Cr,0,+2 H,0
H,Cr,04+ 14 HCl —> 3 CrCl,+ 4 Cl,+8 H,0
(9 2 FeSO,+4 NaOH + H,0,=2 Fe(OH), ¢ +2 Na,SO,



(10) TEERMEEW .

SnCl,+2 HC1+H,0,=SaCl,+2 H,0

(11) 7EBERAN SR BRBR B0 b , S Al T 3t SR AR AL, 2 T S fb i > B e UL
UO,(NOp), +H,0,+4 H,0=U0, + 4 H 0y +2HNO,

B TR 1k T B A
' *(12) 2(Fe(CN)¢)3 +H,0,=2(Fe(CN) ) +2 H*+ 0, 4
(13) PbS+4 H,0,=PbSO,(1) + 4H,0
| 1) | HSCN+3 H,0,=HCN+H,50,+2 H,0
LB . 2K,(Fe(CN),) +H,0,=2 K,(Fe(CN),) +2 KOH
18) 2 K(Fe(CN)g)+H,0, +2 HCl=2 Ky(Fe(CN)) + 2 KCI+2 H,0
| an H,0,+S0;=H,0+50," ' |
(18) Ag,0+H,0,=2 Ag | +0,+ +H,0
(19) 2 AuCl+3H,0,+6 NaOH=2 Au y +6 NaCl+3 O, +6 H,0
(20) 2 Co(NO;), +4 NaOH +H,0,=2 Co(OH), ¢ +4 NaNO,
EEE
21) Co,0;+H,0,+2 H,50,=2 CoSO,+ 0, +3 H,0
(22) MnO,+H,S0,+H,0,=M,S0,+2H,0+0, }
(23) MnO(OH), +2 HC1+H,0,=MnCl,+3 H,0+0, 4
(24) 2 KMnO,+3H,S0,+5 H,0,=2 MnSO,+K,S0,+5 0, } +8 H,0
é (25) NiO(OH),+H,0,=Ni(OH),+H,0+0, 1
(26) Cr,0;+4 H,0,+2 H*=2 CrO4+5 H,0

| (27) Ti(SOy, &5 H,O, WMkl irfE, RARLE R N, LRBOERH,
i Bt 2% A BN LA SR TR (TiO; « nH, 0) s H,Ti0,(S0,), ﬁTTﬁo
i

(28) 2 HC10;+H,0,=2 C10,+0, +2H 0
(29) | 5 H,0,+2 HIO;=5 O, +1,+6 H,0
(30) NaOCI+H,0,=NaCl+0,+H.0

*um~wmﬁ%ﬁmgﬁﬁ&ﬁq



F=E W & (HNO)

. KRN

4 HNO;=4 NO,+0,+2H,0

2. HIELEER:
(D . 3 C+4HNO;=3CO,+2H,0+4NO
2) S+2 HNO;=H,50,+2 NO
(3) 8 H,O0+3 P,+20 HNO;=12 H;PO,+20 NO
(4 4 As+4 HNO;+ 4 H,0=4 H;AsO,+4 NO

12 As+20 HNO;+8 H,0=12 H,AsO,+ 20 NO 4
3 H5eRBEM:
(1) . 3 Pt+4 HNO,+ 12 HCi=3 PtCl,+4NO+8 H,O

TER
(2) Au+HNQO;+3 HCl=AuC3;+NO+2H,O
Nt At
EK
HNO;+3 HCl=2 Cl+2 H,0+NOCI
el L>No+cCl
>1cl

6)) As,+4HNO;+ 4H,0=4 H;As0,+20NO ¢+ ~
(4 3As,+20 HNO;+8 H,0=12 H;As0,+20 NO ¢
(5) 3 As,S;+28 HNO;+4 H,0=6 H;As0O,+9 H,SO,+28 NO
(6) '3 Cu+8 HNO;=3 Cu(NOy),+4 H,0+2 NO
(7 Fe+4 HNO, () =Fe(NOp;+NO 4 +2 H,0

Fe+6 HNO;(3%) =Fe(NOy;+3NO, 4 +3 H,0
¢)) 3Sb+5 HNO;=3 HSbO, | f1+5 NO+H,0

4 5n+ 10 HN03=4 Sn(NO;;)g + NH‘ NO3+3 HZO

Sn+4 HNO,=H,Sn0; y +4 NO, + +H,0
(a—HER)



Ag+2HNO,=AgNO,+NO, + +H,0
Be+ 4 HNOy=Be(NOy),+2NO, 4 +2H,0
Bi+6 HNO,;=Bi(NOp,+3NO, 4 +3H,0 _
Cd+4 HNO,=Cd(NO,),+3 NO, § +2H,0
Co+4 HNOy=Co(NOy,+2 NO, + +2H,0
A

Ga+6 HNO;=2-Ga(NOy), +3 NO, 4 +3H,0
Hg+4 HNO,=Hg(NOy,+2 NO, 4 +2 H,0
Mg+ 4 HNOy=Mg(NOp,+2 NO, 4 +2H,0

- Mn+ 4 HNO;=Mn(NO,),+2 NO, § +2 H,0
Pb+ 4 HNO;=Pb(NOy),+2 NO, t +2H,0

| 4 Zn+8 HNO;= 4 Zn(NOy) , + NH,NO;+3 H,0

| 4 HRAHER |

PbS+2 HNO,=PbSO,+NO 4 +H,0
3 CdS+8 HNO;=3 Cd(NOy),+2 NO+ +3S § +4H,0
MaS +2 HNO;=Mn(NO,), +H,S 4
HNO,+H,S=HNO,+H,0+S
i Me Zh &R, -

3 MeS+6HCI+2 HNOy=2NO 4 +4H,0+3 MeCl,+35 ¢
(NH,),S+2 HNO,=2 NH,NO;+ H,S
3H,5+2 HNO;=4H,0+3 S+2 NO
2 NO+0,=2NO, -

2 NH,+H,0+NO+NO,=2 NH,NO,
2NH,NO,=2N,+4H,0

f“""—'*'___'_\

5. HS{keawmER:
NH,;+ HNO,=NH,NO,
N,H, « H,S0,+ HNO;=N;H+S0,+3H,0+0,
(iR ) EoE 0
2 HNO;+ 4H;S0,+ 4 SnSO,=N,0+ 4 $n(S0,),+5 H,0
HNO,;+ H,S0,=SO,NH+ H,0
3 H,S0,+ HNO,+2 NO=3 SONH + 2H,0
2 HNO,+6 Hg+3H,SO,=4 H,0+3 Hg,SO,+2 NO
‘ { 2 HNO;+ 2 H,=N,0,+3 H,0
NH,NO;+ N,0;=2 HNO,+ N, +H,



8 MnCl,+12 HC1+2 HNO;=3 H,MaCl,+ 4 H,0+ 2 NO 4

Y Fe*+NOy + 4 H*=Fe*++NO+2 H,0
FeSO, « NO == FeSO,+NO %
SRS

H;AsO;+2 HNOy=H;As0,+ 2 NO,+ H,0
AsCly+2 HNO;+2 H,0=H,As0,+ 2 NO, + 3 HC!
3 Cu,;S+16 HNO;=6 Cu(NOy),+3S | +4NO* +8H,0
2 FeSO,+2 HNO;+ H,S0O,=Fe,(50,),+2 NO,+2 H,O
6 Fe SO,+2 HNO;+ 3 H,5S0,=3 Fe2(50,);+2 NO+4 H,0
3 FeCl,+ HNO;+3 HCi=3 FeCl;+ NO+2 H,0

(NH,),MoO, + 2 HNO=2=H,Mo0, ¢ +2 NH,NO,
=

SnCl, +2 HCl+2 HNOy=SnCl,+2 NO,+2 H,0

A

N31W04+2 HN01 2 NaN03+ HZWO‘ v

wE®R)
) MnCl,+ {Cl)=MnCl,
( PE B TRk HCl th 5 HNO, 838, W4 RERE B2 =8LE MnCl, #,
A Cl EE RS ER EALERBRT R )




HmE & M HCD

CuCL.(H#)

4 HC1+0, 2H,0+2Cl,
3 HCl1+HNO,=Cl,+ NOCl+2 H,0
6 HC1+KC10,=3 Cl,+ KC1+3 H,0
| MCO;+2HCI=MCI1+H,0+CO, 4 (M }=#H4B)
| Al(OH),+3 HCl=AICl;+3 H,0
Cd(OH), +2 HCl=CdCl,+2 H,0
CdS + 2 HCI(#k) =CdCl, + H,S 4
FeS+2 HCl=FeCl,+H,S

M+nHd=MCla+ 7 H, 4 (a 4 & #0

M+2HCl=2MCI+H,* (M=Na, K, Rb, Cs, Li)
2M+6HCI=2MCL+3H,4 (M=Al, Ga, In)"

2 TI+2HCI=TICI| +H,*
Sn+2HCI=5nCl,+H, 4 (338 HCl; rha:% H,SnCl,)
| Pb+2HCI=PbCl,+H, * (#1t& HCIl; sk HPHCLy)
| 1
[ PbCI, +2 NaCl 2= Na,PbCl,

l

' A

[ H,S5¢0,+2 HCl == H,Se0,+Cl, 4 +H,0

l
i 2 Cu+4 HC1+0,=2CuCl,+2H,0
i
|
i

AgCl+2 NH,= (Ag(NH,),)Cl
AgCl+2 KCN=K (Ag(CN),) +KClI

M+2 HCI=MCIl,+H,* (M=Zn, Cd)

{ AgNOy+HCI=HNO,+ AgCl | (1)

Hg,Cl,+2 HNO;(#)===Hg,(NO;),+2 HCI
Hg,Cl,+3 H,S0O,(#%)===2 HCI+ 2 H,0+ S0, + 2 HgSO,

2 Ti+6 HCl=2 TiCl,+3 H, ¢
M+ 4 HCI=MCl,+ H, 4 (M=Zr, Hf, Th)

10



’ S 4 TiCly+ 4 HC!+0,=4 TiCl,+2 H,0
' %

Cr+2 HCl=CrCl,+H, 4
K,Cr,0;+ 14 HCl=2 CrCl;+ 2 KCI+3 Cl,+7 H,0

Mo+ 6 HCl=H,MoCl,+ 1 L1H, ¢
AR 2

| Na,MoO,+ 2 HCI=2=2 NaCl+ H,MoO, J
=

(W F#&TF HCIL)

Na,WO,+ 2 HCl =2= 2 NaCl+ H,WO, |
®

M=Fe, Co, Ni;
M+2 HCI=MCI,+H, 4
{ MnO+ 2 HCI=MnCl,+H,0
Mn,0;+ 6 HCl=2 MnCl,+Cl, 4 +3H,0
Mn;0,+ 8 HCI =2 3 MnCl,+Cl, 4 +4 H,0
Mn, O, + 14HC1-—‘““A:— 2MnCl,+5Cl, 4 +7H,0

2 KMnO, + 16 HCl === MnCl,+5 Cl, 4 +8 H,0+2 KCI

MzO,+ 4 HCI (#)=2= MaCl,+Cl, 4 +2 H,0
*Cl- R © Agt+Cl- == A¢Cl |
AgCl+2 NH, == (Ag(NHp,)*+Cl- -
AgCl+2 8,0 == (Ag(5,09),)"°+CI-
AgCl+2 CN- === (Ag(CN),)~+CI-

{ A¢Cl AT (NH),CO; i (i AgBr, Agl R A:pk (Ag(NHp,)*
ESF (NH,),C0O;+H,0 = NH,OH+ NH,HCO,

Na;AsO;+3 AgCl=3 NaCl+ Ag; AsO,

MnO, +2 Cl-+ 4 H+=2 H,0+ Ma*+ Cl,
10 KC1+ 2 KMnO,+ 8 H,SO,=2 MnSO,+ 6K,SO,+ 5 Cl,+8 H,0
6 KC1+7 H,S0,+K,Cr,0,=Cr,(SO,);+ 4 K,S0,+ 3 Cl,+7 H,0




12

K,Cr,0,+ 4 NaCI () + 6 H,S0(i%) =2 Cr0,Cl,+ H,0+4 NaHSO,+2 KHSO,
a ( —gIdst)
Cr0,Cl;+2 HOH=H,CrO,+ 2 HCI
2 H,CrO, = H,Cr,0,+H,0
3 ClI"+NO; + 4 H*=Cl,+2 H,0+ NOC!
5ClI"+ClO; +6 H*=3 Cl,+ 3 H,0
CI"+ClO~+2H*=C|,+H,0
Pb(CH,C0O),+ 2 NaCl=PbCl, | +2 CH,COONa

4FeCl+30,=2= 2 Fe,0,+6 Cl, 4

2 AuCl, =22 Au+3Cl4

PtCl, =2= Pt+2 C|,

' NH,Cl=£= NH,+ HCI
{ He,Cl, + Na,CO, =2 NaCl+ Hg,CO,
Hg,CO,=HgO+ Heg+ CO,
4 AgCl+2 Na,CO,= 4 NaCl+ 2 Ag,CO,
2 Ag,CO,=2 Ag,0+2 CO,
2 AgO=4 Ag+O,
2 AgCl+Zn=ZnCl,+2 Ag
2 AgCl+ (NH,),S= Ag,S +2 NH,CI
7 HC1+ HCIO,=4 Cl, + 4 H,0
10 HC1+2 HNO,=5Cl,+ N, +6 H,0



BEE W B (HS0)

2 H,SO,(#) +C =2= CO, » +250,4 +2 H,0

Zn+2 H,SO,(ik) =2= ZnS0,+ 50,1 +2 H,0
872080, + ¢ +4 H,0

4 Zn+5 H,S0 (7zz>~-0.~. 4ZaSO,+H,S | +4H,0

{ Cu+ H,SO, —‘i“icuo+H 0+S0, 4

CuO+H,S0,=CuS0,+H,0
Sn+H,;S0,=S1S0,+H, 4

2 Ag+2 H,S0,(i) =2= Ag,S0,+S0,1 +2 H,0
2 Al+6 H,S0,(%)=A1(S0),;+3S0,4 +6 H,0
Be +H,SO,=BeSO,+H, ¢
Cd+H,50,=CdSO,+H, 4
Co+H,S50,=CoS0O,+H, 4

-Cr+H,50,=CrSO,+H, ¢

2Cu+2 H,SO,(#) +0, =2= 2 CuSO,+2 H,0
Fe + HZSO4=FBSO{+ Hz T
2 Ga+3 H,SO,~Ga,(S0,),+3 H, 1

Hg+ 2 H,S0,(#) =2= HgSO,+ S0, 4 +2 H,0

SO,+S0,t +2H,0

{ Se+ H,S0,(3)=5eS0,+H,0
S5eSO,+H,0=Se | +H, SO (Lﬁi)if“?%ﬁ%ﬁﬁ?‘fm)

2 Sb+6 H,80, 2= Sb,(SO,Y,+3 SO, 4 +6 H,0
| Sr+H,50,=S5rS0,+H, 1
Te+H,S0; == TeSO,+H,0



V 4+ H,S0,+H,0=V0S0,+2 H,
etk
FGC13 +3 H,SO‘=‘-FC,(SO¢) 3 + GHCI

Ph(NO,),+H,S0,(##%) 2= PbSO, | +2 HNO,
2 AgNO,+H,S0,=Ag,SO, | +2 NO,+ %O,+H,O

BaCl,+ H,S0,=BaS0, | +2HCI

2 BiCl, +3H,50,=Bi0,S,0, | + SO, +6 HCI

CaCl,+H,S0,=CaSO0, | +2 HCl
" CaSO,+ (NH,),S0,= (NH,),(Ca(S0,),)

(CaSO, v W Fik (NH)),SO,, SrSO, #1BaSO, i& 4 5x 4 15
2 FeSO,+ 2 H,SO, 2= Fe,(S0,),+S0, 4 +2H,0
Hg,(NO,),+ H,S0,=Hg,S0, { +2HNO,
PbSO,+H,S0,=H,Pb(S0,),

2 PbSO,+2 HNO,=Pb(HSO,),+ Pb(NO,),
MnO+H,$0,=MnS0O,+ H,0
2 Mn,0,;+4H,;SO,=4 MnSO,+4 H,0+ 0,4
2 Mn,0,+ 6 H,S0,=6 MnSO,+6 H,0+ 0,

2 MnO,+ 2 H,SO,=2= 2 MnSO,+2 H,0+ 0,4

Na,MoO,+H,50,=H,Mo0, { +Na,S0,
H
PbSO, y +2 NH,Ac=Pb(Ac),+ (NH,),SO, ( PbSO, | /1)
PbSO, | + 3 NaOH =Na,SO,+ NaHPbO,+ H,0 ( PbSO, § # 4 )
2 ShCly+5 H,S0, (i) = Sb,(SO,) 5+ 10 HCI A
TE L 805 47 4000 Sb gir Jgi o Sh
Sb,(SOYs+2 C=5b,(50,),+2 SO, # +2 CO, 4
SnS0,+2 H,S0,=5n(S0,),+ S0, 4 +2 H,0 4

$nClL+3 H,50, 2. S$n(S0,,+S0,+ +2HCI4 +2 HO 4
SrCl,+H,S0,=5rSO, | +2HCI
50, HFHI M.
* 3 Hg(NO,);+ 3 Na,80,=3 HgO » SO, + 6 NaNO,




